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gboobo 20000000400

n
A\

1 1 1 1
0 To—X1 T3—X1 Tp,—T1
0 x9(xo—mq) xg(rs—x1) 0 xp(T,—x1)
Ve, @y, x,) = |0 22 (wa—21)  23’(zs—21) -0 2 (zp—21) (825)
0 22" 3(wo—m1) 23" (23—21) -+ 2, (0 —171)
0 22" 2(wg—11) 23" 2(x3—21) + 2, (2, —11)

168



00000 (1,1) 00000000

n—1
% N
To— T T3— T tee Tpn—Tp
xo(xg—11) xg(wg—x1) -0 xp(T,—x7)
2 2 2
xof(xo—m1) a3 (xz—w1) -0 wp(Tp—11)
V<:C17x27“' 7xn) = . . ! n (826>
$2n73($2_m1) x3n73(x3_1,1> o xnnig(xn_xl)
1" (ro—11) 23" 2 (w3—21) - 2" A (wp—11)

ooboob 100 22—, 000000000000 200 23—, 00000000000
oooooo jO0 (=12,---,n—-1)0 z;—2, 00000000000000O0C0OO0O
obooboobbo

n—1
I % N
1 1 1
T T3 Tn
X9 T3 e an
Vi, @z, ) = (2—a1) (@3 —21) -+ (2n—21) | : : (827)
x2n—3 $3n_3 xnn—S
93'2”72 333"72 T n—2
n

gboooooon

V(zy, e, ,x,) = ( H(xj—x1)> V(zg, g, ,xy) (828)

1<j<n

gbooboooobobboooobbboooobbbooobbooboo

V(zy, e, -+, 2y) (829)
- ( H(xj—xl) H(xj—xg) V(ts, 24, Tn) (830)
= ( H(xj—xl) H(a;j—@) ( H (25— 2)> V(Zn_1,2) (831)
= ( [LGs=o) | { TLGrs=a) ( I (e ) ( 11 <xj—wn1>) (832)
- H (2j— ;) (833)
ooono 0
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L] 4.110

ggoboboogoooood

1 1
V(xl,mg) == =Ty — I
1 T2
1 1 1
V($1>$2, m3) =71 T2 T3|= (5U2 - xl)(% - 901)@3 - m2) .

T 9622 I32

1 1 1 1

Ty Ty X3 T4

I‘lz $22 .3632 I‘42

[L’13 2723 1'33 [L’43

V(xy, x9, T3, 24) =

= (x9 — x1)(x3 — x1) (T4 — 21) (T3 — 22) (T4 — x2) (T4 — x3) .
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U0 4111 \ggpoooooooo ooo

ao -1
a; = —1
as r —1
F=|. N (838)
Ap—1 —1
an T
nil
00000000000 companion determinant O O OO u
U0 4112 | pppooooooo
F=apz" +aa" "+ +a, 00" +a, 17 +a, (839)
ooooaoo
oo0oOooooo
Qo -1
a; x —1
a9 r —1
F(a()valaa?a"' 7an—17an;x) = : ., . (840)
Qp—1 —1
an, T
nIl
00000 100000000000
z —1 aq —1
r —1 a = —1
F(ap, a1, -+ ,an;x) = ag —(-1)| : (841)
—1 Qp—1 —1
T an, T

3 4
3 4

gbobogobobboogobboooobobooobbobooobbooobboooooboon
gboboboogbobbbooogbbbuoooobooo

n+1 n
,—/ﬁ n S —
F(ag, a1, - ,ap;x) = apz™ + F(ay, -, an; x) (842)
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gboobobogoobobooan

n+1 n
S ——. n ——
F(a(]?a‘h”' 7a’n7x) = Qox +F(CL1,“' 7an7x>
n—1
_ N
= apx" + a12"t + F(ag, -, an; )
n—2

. n n—1 n—2 f—/\q_
= apz" + a12" " + agx" " + F(ag, -+, an; )

gooo

F(ag,a1;2) =

F(a07a17a2;$)

F(ao,@17a27a3§$)

2
= apz" + a12" F agx" " + -+ ay_9x” + F(ap_1, an; )

= apr" + a2+ asx™ P 4t Ao F ap1x + ap

[ 4113 |ppooooooooooooo

—1
0 =aor — (—1)a; = apr + ay .
aq T
G —1 1 1
r — a; —
=lay x —1|=uap — (="
T ay T
(05} T

ao -1

] rz —1 a; —1
a, T —
=" = ag x —1l=(=1Dlay = -1
as r -1
T as T
as X

= aox?’ + a1x2 + asx + as .
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U 4114 |gpppoooooo

1 a b c+d
1 b ¢ d+a

1 d d a+bd
1 d a b+c

(853)

gooboogon

gooo

(854)

=0.

— o
o0 3
S o3
— o
=
+
Q
+
i}
+
=
I
=Bl
+ + +
(SRS}
+ + +
o O O
+ + +
S 3 3
003
S 03
™ o~
I
=N I3 O
+ + +
SEE < R
o0 3
I o3
o

1 d a1

1 d a a+b+tc+d

1 d a b+tc

173



8

4.21 OUOOO O OOOoboooboooboodn

[ 4115 |ppppooo oooooOOO0OOOODOO0O0OOO00000

. 12 3
3 —1 2 1 cosf —sind 111 —+/3
(1) [1 2} (2) {—5 —4} (3) [sin@ COSH:| (4) 5[\/5 ﬂ (5) 11_51
1 -2 2 2 4 1 2 —1 -2 a 00 2 1 0
6) [4 1 -1 (7) |1 -2 1 8) |-1 0 3 9) |d b 0| (10) |1 -1 2
2 -1 3 05 —1 3 -2 5 e fc -1 0 -1
[z —2 1 1 101 2 3 2 310
(11) 0 20—1az—1| (12) |2 2 3| (@13) [3 1 -2 (14) [211
| -2 1 1 1 -11 10 1 101
2 -1 1 1 -20 10 2 1 2 -3
(15) |1 2 —2| (16) |2 =1 1| (17) |2 =3 4| (18) |2 -3 1 0
3 1 0 0 3 1 02 1 8 1 -5
[l 4116 {ppoooooD A0 20000000000000000000 AD det(A) =
det(A)»"'000000O000O —
[ 4117 |gpooooo A0o0o0ooo0O00O0O000 AOOOOOOOO0OOO0O0
0000 ADDDOOOOOD A'00000000000000 —

L 4118 |gpooooo AooooooOO0OOO0OO0 ADODOOOOOOOOOOO

O

U 4119 |popoooooo ooooooooO0000000O0000000

(1){2x—3y:13 (2){5x+y=3 (S){4x—2y:1 (4){ 22+ 3y =9

dox 4+ 5y = =7 3xr + 2y =2 3r—y =2 —3r + 5y = —23
3r+2y=1 0.72 + 0.6y = 50 lr—3y=1 V3r—y=1
(5) 2r — 3y = 18 (6) 0.3z + 0.4y = 30 (M) Sr+2y=2 (®) 4+ 3y =3
) 20 +3y+z2=7 r+y—z=1
(9) { (C(?sa):v—(81na)yic?sﬁ (10) ry =4 (1) 2% £ 3y +2=6
(sina)z + (cosa)y = sin 8 Sty 2= 6 r—dy 1+ 32=0
r+y+2=6 rT—y+22=8 20 —y+ 32 =28
(12) 3x4+2y—22=1 (13) 2e+3y+2=5  (14) -3z +2y+4z=—4
20 —y+32=9 —r+4y+4z=1 —2r—y—2z2=-5
r—2y+2=0 20 —y—2=3 —3r—y+z=95
(15) r+y—z=1 (16) 3r+y+52=5  (17) 20 +y=-3
\2x—y+3z:2 rT+y+3z2=2 —Hr—y+z=9
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r—y=—4
(18) ¢ 22 —3y+2=-3
rT+y—>5z=12
—3r—y+z+u=4
2 —u=-2
(21) T+Y—u
—5r—y+z+4u=>5
rT+y+ztu=-2
[ 4.120
oooo o )
a 00| |z b
(1) |baoOf |yl =11 (2
100 af |z] K
11 1] [«] [1
4) lalal (yl=10
0 b 1] |7 -1

(19)

)

(22)

a

1
a

[
(oy

S =

[

x+2y+32=-3

2r—y+z—u=4
rT—yYy—2+u=>

-2 4z =—14 20
Ty ez (20) —2x+2y+z+2u=-4
3r+2y—2=9
—r+y—z+3u=3
rT+z2+2u=6

—2r4+y+4z+u=3
dr — 3y —4z+u= -3
—r+y+2zz24+u=4

ggbbbuododd obbbboooobbboodobobboooobbboo

1
c (3)
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— o
ISTINIE
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